
20

20

E
S

C
 1:25

60

7
8

0

3
1

5

B
A

L
D

R
A

M
E

 P
R

IM
 - L3

ESC 1:25

P
49

465
39 N1 c/12

3 N13 ø10.0  C=462
462

3 N16 ø12.5  C=120

1 N14 ø10.0  C=525
465 60

3
9

 N
1

 ø
6

.3  C
=

68

1
4

1
4

20

14

E
S

C
 1:25

7
8

0

3
1

5

B
A

L
D

R
A

M
E

 P
R

IM
 - L3

ESC 1:25

P
50=

P
76

465
34 N2 c/14

4 N17 ø12.5  C=462
462

4 N18 ø12.5  C=525
465 60

3
4

 N
2

 ø
6

.3  C
=

60

9

1
5

30

20

E
S

C
 1:25

60

7
8

0

3
1

5

B
A

L
D

R
A

M
E

 P
R

IM
 - L3

ESC 1:25

P
56

465
39 N3 c/12

9 N13 ø10.0  C=462
462

1 N15 ø10.0  C=120

3 N14 ø10.0  C=525
465 60

3
9

 N
3

 ø
6

.3  C
=

88

1
4

2
4

25

14

E
S

C
 1:25

7
8

0

3
1

5

B
A

L
D

R
A

M
E

 P
R

IM
 - L3

ESC 1:25

P
57

465
39 N4 c/12

4 N13 ø10.0  C=462
462

4 N14 ø10.0  C=525
465 60

3
9

 N
4

 ø
6

.3  C
=

66

8

1
9

327

14

E
S

C
 1:25

7
8

0

3
1

5

B
A

L
D

R
A

M
E

 P
R

IM
 - L3

ESC 1:20

P
61

465
39 N5 c/12

4
2

9
 N

6
 ø

6
.3  C

=
25

26 N14 ø10.0  C=525
465 60

3
9

 N
5

 ø
6

.3  C
=

670

8

3
2

1

N
6

30

25

E
S

C
 1:25

60

7
8

0

3
1

5

B
A

L
D

R
A

M
E

 P
R

IM
 - L3

ESC 1:25

P
62

465
39 N7 c/12

4 N13 ø10.0  C=462
462

4 N15 ø10.0  C=120

3
9

 N
7

 ø
6

.3  C
=

98

1
9

2
4

50

20

E
S

C
 1:25

7
8

0

3
1

5

B
A

L
D

R
A

M
E

 P
R

IM
 - L3

ESC 1:25

P
64

465
39 N8 c/12

7
8

 N
9

 ø
6

.3  C
=

31

12 N13 ø10.0  C=462
462

4 N14 ø10.0  C=525
465 60

3
9

 N
8

 ø
6

.3  C
=

128

1
4

4
4

N
9

40

20

E
S

C
 1:25

60

7
8

0

3
1

5

B
A

L
D

R
A

M
E

 P
R

IM
 - L3

ESC 1:25

P
65

=
P

111

465
39 N10 c/12

3
9

 N
9

 ø
6

.3  C
=

31

4 N13 ø10.0  C=462
462

2 N15 ø10.0  C=120

2 N14 ø10.0  C=525
465 60

3
9

 N
1

0
 ø

6
.3  C

=
108

1
4

3
4

N
9

E
X

T
E

R
N

O
: 8

4
1

 x 594 m
m

.
F

O
R

M
A

T
O

 A
1

 - IN
T

E
R

N
O

: 801 x 574 m
m

.

30

20

E
S

C
 1:25

60

7
8

0

3
1

5

B
A

L
D

R
A

M
E

 P
R

IM
 - L3

ESC 1:25

P
67

465
31 N3 c/15

4 N17 ø12.5  C=462
462

2 N15 ø10.0  C=120

2 N18 ø12.5  C=525
465 60

3
1

 N
3

 ø
6

.3  C
=

88

1
4

2
4

40

20

E
S

C
 1:25

7
8

0

3
1

5

B
A

L
D

R
A

M
E

 P
R

IM
 - L3

ESC 1:25

P
88

465
39 N11 c/12

1
1

7
 N

1
2

 ø
6

.3  C
=

32

14 N13 ø10.0  C=462
462

4 N14 ø10.0  C=525
465 60

3
9

 N
1

1
 ø

6
.3  C

=
112

1
5

3
5

N
1

2

R
e

la
çã

o
 do aço

P
49

2
xP

50
P

56
P

57
P

61
P

62
P

64
2

xP
65

P
67

P
88

A
Ç

O
N

D
IA

M
(m

m
)

Q
U

A
N

T
(B

a
rras)

U
N

IT
(cm

)
C

.T
O

T
A

L
(cm

)
C

A
50

1
6

.3
3

9
6

8
2

6
5

2
2

6
.3

6
8

6
0

4
0

8
0

3
6

.3
7

0
8

8
6

1
6

0
4

6
.3

3
9

6
6

2
5

7
4

5
6

.3
3

9
6

7
0

2
6

1
30

6
6

.3
4

2
9

2
5

1
0

7
25

7
6

.3
3

9
9

8
3

8
2

2
8

6
.3

3
9

1
2

8
4

9
9

2
9

6
.3

1
5

6
3

1
4

8
3

6
1

0
6

.3
7

8
1

0
8

8
4

2
4

1
1

6
.3

3
9

1
1

2
4

3
6

8
1

2
6

.3
1

1
7

3
2

3
7

4
4

1
3

1
0

.0
5

4
4

6
2

2
4

9
48

1
4

1
0

.0
4

6
5

2
5

2
4

1
50

1
5

1
0

.0
1

1
1

2
0

1
3

2
0

1
6

1
2

.5
3

1
2

0
3

6
0

1
7

1
2

.5
1

2
4

6
2

5
5

4
4

1
8

1
2

.5
1

0
5

2
5

5
2

5
0

R
esum

o do
 a

ço

A
Ç

O
D

IA
M

(m
m

)
C

.T
O

T
A

L
(m

)
P

E
S

O
 +

 10
 %

(kg)
C

A
50

6
.3

1
0

.0
1

2
.5

8
2

5
.1

5
0

4
.2

1
1

1
.6

2
2

2
.1

3
4

1
.9

1
1

8
.2

P
E

S
O

 T
O

T
A

L
(kg)

C
A

50
6

8
2

.2

V
o

lu
m

e
 d

e
 co

n
cre

to
 (C

-25) =
 5.23 m

³
Á

re
a

 d
e

 fo
rm

a
 =

 83.05 m
²


